

VEZDOR

State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130

Charleston, WV 25305-0130

304-766-0000 NEWTECH SYSTEMS INC

Solicitation

SH-P

Ţ

DPS1403

NUMBER

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

TARA LYLE 304-558-2544

WEST VIRGINIA STATE POLICE

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309 304-746-2141

DATE PRINTED 08/06/2013

*C08142531

PO BOX 310 420 16TH ST

DUNBAR WV 25064

BID OPENING DAT	TE: 08/27/	2013		BID	OPENING TIME 0:	1:30PM
LINE	QUANTITY	UOP	CAT. NO.	ITEM NUMBER	UNIT PRICE	AMOUNT
0001	1 VARIOUS FIRE	LS /BURG		340-16 EMERGENCY ALARM		\$ 18,937.35
	THE WEST VIR WV STATE POL HARDWARE ONL AND VARIOUS DETACHMENTS SPECIFICATIO	GINIA ICE, Y FOR OTHER THROU NS.	PURC IS SO FIRE ACCE GHOUT	NTRACT HASING DIVISION LICITING BIDS TO /EMERGENCY/BURGL SSORIES FOR THE STATE, PER THE	PROVIDE ARY ALARM PANELS WV STATE POLICE	
	2. GENERAL T 3. DPS1403 S 4. CERTIFICA 5. PURCHASIN	ONS T ERMS PECIF TION G AFF	O VEN AND C ICATI AND S IDAVI	ONS IGNATURE PAGE		
				13 12:40:03 PM Virginia Purchasing D	 ivision	
SIGNATURE	1/2			TELEPHONE	DATE	
TITLE Gen Mo	GUAL JOHN	IN 10	p-7-0	6503	74-766-0000	8-27-20/3

Bid Form DPS 1403

DPS 1403		BID OPENING:				
Item #	Description	*Estimated Annual Quantity	Unit Price	Extended Price		
3.1.1	Partitioned Fire/Burglary/Emergency alarm panel with minimum of 128 zones	15	\$557.69	\$ 8, 365.35		
3.1.2	Motion Detector	15	\$ 57.01	\$ 855.15		
3.1.3	Addressable Photoelectric Smoke Detector	15	\$ 76.69	\$ 1, 150.35		
3.1.4	Addressable Audible Glass Break Detector	15	\$ 91.98	\$ 1,379.70		
3.1.5	Addressable Heat Detector	15	\$ 24.69	\$ 370-35		
3.1.6	Addressable Door Contact	15	\$ 19.10	\$ 286.50		
3.1.7	Manual Fire Alarm Station	15	\$ 33.20	\$ 498.00		
3.1.8	Indoor/Outdoor Sirens	15	\$ 37.69	\$ 565.35		
3.1.9	Audio/Visual Annunciators	15	\$ 42.71	\$ 640.65		
3.1.10	Annunciator Power Supply	15	\$ 159.89	\$ 2. 398.36		
3.1.11	Keypad	15	\$ 141.69	\$ 2.125.35		
3.1.12	Backup Power Supply	15	\$ 20.15	\$ 302.25		
	Failure to use this form may result in d	disqualification.	Overall Total Cost:	\$ 18,937 ^{.36}		
	Bidder / Vendor Information:					
	Name: Newtech Syst Address: 420 16th St	ems INC.				
	Address: 420 /6 51	250(1)				
	Phone #: 304.766-000	25064				
	Email Address: mbryant@Neu	· itechuiv. coi	~~			
		0,00,00				
	Contact Coordinator Information:					
	Name: Mike Bryant Address:					
	Phone #: Email Address:					
1	*Quantities are estimated annual usage for	hidding nurnoses ar	ad hidder's informat	ion		
	7	bluding purposes an	d bidder 5 illiolillat	lon.		



420 16th Street Dunbar, WV 25064 office: 304-766-0000 fax: 304-766-0003 www.newtechwv.com

\$18,937.35

To: WV State Police

Attn:

4124 Kanawha Turnpike South Charleston, WV 25309

Phone: 304-746-2141

Fax:

Quote: MVOTQ1775

Date: 08/27/13 Terms: Net 30 Sales Tax: Not Included

FOB: Included Expires: 60 Days

Grand Total:

Project: Thank you for the opportunity to provide the following proposal.

Qty	Manufacturer	Part Number	Description	Unit	Extended
15	Honeywell	VISTA-128FBP	Commercial Fire/Burglary Alarm Control Panel	\$557.69	\$8,365.35
15	Honeywell	CK-IS2500SN	V-Plex PIR Motion Detector	\$57.01	\$855.15
15	Honeywell	5193SD	V-Plex Smoke Detector	\$76.69	\$1,150.35
15	Honeywell	CK-FG1625SN	V-Plex Glassbreak Detectors	\$91.98	\$1,379.70
15	Edwards UTCFS	281B/4193SNP	Heat Detector w/4193 V-Plex Module	\$24.69	\$370.35
15	Honeywell	4939SN	V-Plex Door Contacts	\$19.10	\$286.50
15	EST/Honeywell	270-SPO/4193SN P	Pull Station w/4193 V-Plex Module	\$33.20	\$498.00
15	Amseco	AS-FSS26T	Indoor/Outdoor Siren	\$37.69	\$565.35
15	Edwards UTCFS	G1RF-HDVM	Multi-cd temporal horn-strobe hi/lo dB - 24V Red w/FIRE	\$42.71	\$640.65
15	Altronix	AL-AL300ULXR	UL Power Supply	\$159.89	\$2,398.35
15	Honeywell	6160	Keypad	\$141.69	\$2,125.35
15	ADEMCO	467	12V4.0AH LEAD ACID RECHARG BAT	\$20.15	\$302.25

Normal Hours are 8:00am - 5:00pm M-F.

Building Permits, Licenses or Fees will be the responsibility of the owner.

If you should have any questions, please call.

Sincerel

Michael Bryant

General Mgr.

Purchaser

Signature ____

Print Name

Authorized representative accepting terms and conditions for purchase.

Purchase Order Date

Include any required billing information.

7.4 Contract Manager: During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

Contract Manager: Mike Bryant
Telephone Number: 304 766-0000
Fax Number: 766-0003

Email Address: mbryant @newtechwv.com

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

1.	A U- 4
V	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the preceding the proceding
	ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has preceding the date of this certification; or 80% of the maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately
	and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or.
2.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
4.	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
5.	Application is made for 3.5% resident yender professors and the subdivision (1) and (3) as stated above; or,
	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard submitted; or,
	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
	Application is made for preference as a non-resident small, women- and minority-owned business, in accordance with West Virginia Code §5A-3-59 and West Virginia Code of State Rules. Bidder has been or expects to be approved prior to contract award by the Purchasing Division as a certified small, women- and minority-owned business.
against s or deduc	nderstands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the nents for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency sted from any unpaid balance on the contract or purchase order.
By subm authorize the require	ission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and es the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid red business taxes, provided that such information does not contain the amounts of taxes paid nor any other information by the Tax Commissioner to be confidential.
changes	enalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true urate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.
Bidder:_	Newtech Systems INC Signed: W/ICHU SOLAN
Date:	9-27-2013 Title: Gex Mar.

RFQ No. DPS1403

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

MANDATE: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (*W. Va. Code* §61-5-3) that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

WITNESS THE FOLLOWING SIGNATURE:	
Vendor's Name: Newtech Syster	is INC
Authorized Signature: Michael Borail	Date: 8-27-20/3
State of	
County of Kanarcha, to-wit:	
Taken, subscribed, and sworn to before me this 27 day	of august 2013
My Commission expires 8/1/	, 20 9
AFFIX SEAL HERE	NOTARY PUBLIC Lota & Harleso
OFFICIAL SEAL	Purchasing Affidavit (Revised 07/01/2012

OFFICIAL SEAL
NOTARY PUBLIC
STATE OF WEST VIRGINIA
Lora L. Harless
New Tech Systems, Inc.
420 - 16th St.
Dunbar, WV 25064
My Commission Expires Aug. 11, 2019

CERTIFICATION AND SIGNATURE PAGE

By signing below, I certify that I have reviewed this Solicitation in its entirety, understand the requirements, terms and conditions, and other information contained herein; that I am submitting this bid or proposal for review and consideration; that I am authorized by the bidder to execute this bid or any documents related thereto on bidder's behalf; that I am authorized to bind the bidder in a contractual relationship; and that to the best of my knowledge, the bidder has properly registered with any State agency that may require registration.

Newtech	Sus	tema	Tu
(Company)	Born		
(Authorized Signature)			
Michael Bry	Ant	Gen	Mar
(Representative Name, Title	e)		0.
304-766-0000	766	5-600	3
(Phone Number)	(Fax N	lumber)	
8-27-2013			
(Date)			